194 E

2 % ﬁ%@ffﬁ Iy [[E &R
(HER) | #R A
—iRIg E
Xz | SGRCC) | KiE(C) [HEEUKER| FiR =Xz B
4K /i 12.3 12.5 == BE me mR
6A i 28.0 25.0 == BE me mR
8H| &= 34.2 25.0 x[E B i) mR
10H = 30.9 26.0 xE e [Rixfa - o ER
128 i 9.9 15.0 == BE Rix e - iR mE
2R Z 9.3 11.0 xE BE Figf - i
4ERIKIEAR _
oH DO BOD SS PN T FEE
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
EEfE| 65~85] 75U F [ 20LLF | 25LLF | 1000LLF
EHIE(75%IE) = 8.5 2.2(2.2) 2 60000
48] 77 11 0.8 2 3000
6A| 73 7.9 1.1 2 2400
8H| 6.9 6.9 0.5 1 22000
10A] 68 6.4 7.7 4 300000
128] 75 8.7 0.7 2 30000
2A] 72 10 2.2 <1 500
BEER
GINDINE DS E) NIo0L  BE Hlisk 8B 7L JLKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E] 0.01LLF | EEH | 001LLF [0.05LLF | 0.018LF | 0.0005LLF JEtRH
THiE] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8H - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
2H - - - - - - -
SOO0A i wme |1L,2-070[11-0500[2R-1,2-550(1,1,1-F)500
PCB 5 Mgk R axsy | TFLy NTFLe h
(mg/l) | (mg/I) (mg/1) (mg/l) | (mg/D) (mg/1) (mg/1)
HEAEE] ERH 100280TF ] 0.002LLTF 10.004LLF| 002LLF | 0.04LLF 1LLF
E{E] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
48] <0.0005 | <0.002 T <0.0002 [ <0.0004 | <0.002 <0.004 <0.01
6 A| <0.0005 | <0.002 [ <0.0002 | <0.0004 [ <0.002 <0.004 <0.01
8H - - - - - - -
108] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
128] <0.0005 | <0.002 | <0.0002 | <0.0004 | <0.002 <0.004 <0.01
2H - - - - - - -
1,1.2-ky4 [FUoOA|[ 5400 [1,3-249A - . —see FARUAIL
uu:a’f IFLY | TFLY |ndox | TIIA | ROV 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HAE(E]0.006LL T 0.03LLF | 0.01LLF [0.002LLF10.006LLF| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8H - - - - - - -
10H] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
128] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
2H - - - - - - -




Ry | vy |RBRERRRY so% | 5%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FE{E] 001LLF [001LAF| 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.52 0.1 0.5
4H] <o0.001 <0.001 0.7 0.1 0.1
6A] <0.001 <0.001 0.61 0.1 0.8
8H - - - - -
10H] <0.001 <0.001 0.06 0.1 0.5
12H] <0.001 <0.001 0.69 0.2 0.6
2R - - - - -
ZDHIRE
Naonoa| 2% | 2m | @ | 2@m@ | onodkus |TARTLT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 1.1 0.013 - 0.014 <0.001 <0.008
7y: 1 0.91 0.011 - <0005 <0001 <0.008
6A| - 1.0 0.013 - 0.013 <0.001 <0.008
sA| - 1.4 0.008 - 0.023 - -
108 - 1.1 0.032 - 0.020 <0.001 <0.008
128 - 0.9 0.009 - 0.011 <0.001 <0.008
28] - 1.2 0.007 - 0.014 - -
BiLH HRHERTE (| B ; = i S
IT/=| kS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/D) | (mg/) (BF) (uS/cm)
EHE]  <0.02 2100 24 <0.01 <0.01 - 6900
4H| <0.02 440 1.4 <0.01 <0.01 - 1500
6A] <0.02 3000 2.0 <0.01 <0.01 - 8200
8A - - 1.0 - <0.01 - 6100
10H]| <0.02 2100 5.6 <0.01 <0.01 - 6100
12H]| <0.02 2900 2.2 <0.01 <0.01 - 11000
28 - - 1.9 — <0.01 — 8400




TERR19EE

3 hvd
. a0 A4 [EaR= 1l
|E -
—iRIEE
Xz | SGRCC) | KiE(C) [HEEUKER| FiR =Xz B
4K 5 11.6 13.0 == B IR xR - mE
68 i 28.0 25.0 == B ol wmE
8H| &= 34.2 25.5 3 B fxfa - th ER
108 = 28.6 25.0 3 e [Rixfa - o AR-H
128 i 9.9 14.9 == B Rixf - iR wmE
2R =) 9.3 11.0 xE BE Figf - BR
4ERIRIEAR _
oH DO BOD SS KEEHK
(mg/1) (mg/) | (mg/) | (MPN/100ml)
Ei9{E (75%1E) - 7.8 2.2(2.1) 3 1400000
48] 76 10 0.6 2 3000
6A| 13 7.9 0.8 2 300
8A| 72 7.0 0.9 <1 240000
10A]| 6.6 3.0 8.0 10 8000000
128]| 75 9.0 0.8 2 11000
28] 7.2 10 2.1 <1 300
BEIEHE
HREHL| 2TV R ANo0L  HE Bk R 7 ILFILKER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HA{E] 001LF | FERH | 001LLF [0.05LLF [ 0.01LLF | 0.0005LLF e
EHE - - - - - - -
4H - - - - - - -
68 - - - - - - -
8H - - - - - - -
10A] - - - - - - -
128 - - - - - - -
2R - - - - - - -
oA .. [1,2-2901,1-24nn| Y R-1,2-040a(1,1,1-M)H0R
PCB |77, ~| PEERR \ o1y |'z7Ly | mzFLy 2
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HE] ERH [002LLTF | 0.002LLF [0.004LLF[ 0.02L0F | 0.04LLF 1LUF
15 - - - - - - -
4A - - - - - - -
68 - - - - - - -
8H - - - - - - -
108 - - - - - - -
128 - - - - - - -
2R - - - - - - -
1,1,2-Fy4 [RUo0Aa| #5400 [1,3-29A = NN FARUAIIL
aazsy | TFLY | TFLY |nTow | TI7L| YRV 5
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{E10.006LLTF[0.03LLF | 0.01LLF [0.002LLF[0.006 LA F| 0.003LLF 0.02LLF
15 - - - - - - -
4A - - - - - - -
68 - - - - - - -
8H - - - - - - -
10A] - - - - - - -
128 - - - - - - -
2R - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EE{E] 001LLF [001LAF| 10LLF 0.8LLF 1LLF
15 - - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10A - - - - -
128 - - - - -
2H - - - - -
EDHIEE
N—~FH \ RILLF7 LT
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EHE - 1.0 0.030 - 0.016 - -
4R - 0.85 0.007 - <0.005 - -
64 - 1.1 0.009 - 0.008 - -
8A - 1.1 0.008 - 0.018 - -
10H - 1.3 0.14 - 0.033 - -
128 - 0.82 0.011 - 0.014 - -
28 - 1.0 0.007 — 0.016 — —
BiLH HRHERTE | R : e i s
/= LK coD =% > AE BRoEXR
(mg/D) | (mg/1) (mg/1) (mg/D) | (mg/) (BF) (4 S/cm)
TEEl - = 3.9 = = = 7600
47 - _ 1.2 - - - 4600
68 _ _ 1.8 - - - 8500
8A - - 1.4 - - - 8700
10H - - 15 - - - 6500
12H - - 2.2 - - - 9800
28 - — 1.7 — — — 7700




